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1) >> X=[2 4 6 7 9 8];


%Ejemplo
>> m=(max(X(2:2:length(X)))+min(X(1:2:length(X))))/2
m =
     5
>> sum(X>m)
ans =
     4
2) >> P=[10 20 30 50];


%Ejemplo
>> A=[3 2 1 4];
>> T=[40 42 43 41];
>> P=P-P.*(A>2 & T>42)*0.5-P.*(A>2 & T<=41)*0.3
P =
     7    20    30    35
>> P=P-P.*(A>1 & A<=2)*0.2
P =
     7    16    30    35
>> P=P-P.*(A<=1)*0.1
P =
     7    16    27    35


3) >> X =[2     4     6     7     9     8];

%Ejemplo
>> X1=X
>> [m i]=max(X1(1:2:length(X1)))
m =
     9
i =
     3
>> [n j]=min(X1(2:2:length(X1)))
n =
     4
j =
     1
>> X1([2*i-1,2*j])=[]
X1 =
     2     6     7     8


4) >> N=[12 10 5 20 6 10 14 8];
 >> p=(sum(N)-min(N)-max(N))/(length(N)-2)
p =
    10
>> sum(N>p)
ans =
     3
>> S=sort(N)
S =
     5     6     8    10    10    12    14    20
>> mean(S(3:length(S)))
ans =
   12.3333
>> pd=mean(N(N<10))
pd =
    6.3333
>> pa=mean(N(N>10))
pa =
   15.3333
>> pm=(pd+pa)/2
pm =
   10.8333
>> sum(N>pm)
ans =
     3
5) >> promedio=(P(1)+P(3:8)+P(n-1))/8
6) >> X =[2     4     6     7     9     8];

%Ejemplo
>> D=sum(D.* (mod(X,2)==0))
D =
     20
7) >> V=ceil(20*rand(1,10))

%Un vector cualquiera de notas
V =
    20     5    13    10    18    16    10     1    17     9 
>> V=V+3*(V>=0 & V<=8)+2*(V>=9 & V<=14)-1*(V>=18 & V<=20)
V =
    19     8    15    12    17    16    12     4    17    11 















